=°= RAFRANT UNDIRRITAD
Sigurdur Unnar Sigurdsson
Kt. 2907724279
Dags. 25.2.2022 12:14:22
Astaeda: Undirritun

YFIRLYSING HONNUDAR
23.02.2022

Vardar: Séruppdratti burdarvirkis yfirbyggingar fyrir fristundahusid vid Odinsstig 4 i Grimsnes- og
Grafningshreppi.

Nedangreindur honnudur hefur yfirfario medfylgjandi séruppdratti gerda af honnudum hja Tekta ehf.
Uppdraettir pessir uppfylla honnunarforsendur skv. byggingareglugerd 112/2012.

Alagsforsendur eru skv. evropsku polhénnunarstddlunum og islenskum pjédarvidaukum, IST EN 1990-1998 /
NA:2010.

Adaluppdreettir sem liggja til grundvallar eru gerdir af nedangreindum hénnudi, dagsettir 05.10.2021.

Stadfest med rafraenni undiritun
Sigurdur Unnar Sigurdsson

verkfraedingur 290772-4279



3558

5976

2031

1784

172

4800

2031

986

VB-W-1/07

Sole plate plan M1:50

L 12176
+
L 7484 L 1080 . 3612
! VB-W-1/09 ! K
2
. ~ X
§ o] % ) o]
: 8 v‘ &
o | g
6706 Tz 1s0 20 3530
4 &
g o
3
3 A
° R I ;. . g
VBlw-1/15 ~ VB-W-1/12_19 '
o o
w o™
§ o
. g
\ & ]
\ 8576 5 3530
Q m
\ 0 E—
. ~ VB-W-1/11_18
o 777777 - iz -
-\W- [52)
Ve 235 930 @ 3811
N 7 ~
e 8
B-W-1/13 -
-
2
g -
e} VB-W-1/10_17
>
384 2031 . 1990 . 2031 , 765 VBW02:03 4976
7 7 7 7 7 7
7200 4976
I 4V
v N :
[D)gor:oglajcristhe screws in these places ;leS The outdoor walls sole plate fix every 600 mm.

2. The indoor walls sole plate fix every 600 mm.
3. Sole plate fix with Wedge Anchor bolts WA 10/123.

VB-W-1/01

10776

Drawing name:

Sole plate plan

Costumer name: ‘Approved:
Tekta EHF
House 97 m? Cortrolprofet
0dinsstOdigur 4, A e
801 Selfoss Fie name:
Iceland House 97m

Date:

01.12.2021

Sheet format (A3):

1:50

Checking your order

Sign.: Kontrol:
Project name.: Construction drawing name: Project for the supplier:
SK-S-376 Dr-01
Drawing name:

Sole plate plan

Check:



http://www.pdffactory.com

Window till concrete
finishing detalil

Sole plate for outside
walls fixing detail

Sealant Bostic

Impregnated sole plate Anchor bolt

145x45 mm WA M10x123,
c/c 600 mm
Backer rod PE @13 mm
|
Bituminous gasket 150 mm
Sole plate for inside
walls fixing detail
Impregnated sole plate Anchor bolts
70x45 mm WA 10)(1123, Drawing name:
c/c 600 mm Sole plate fixing details

Costumer name: Approved:

Tekta EHF

House 97 m2 Z?""°'P’°je°; |

Z. - Z, - ign.: ontrol:

0dinsstOdigur 4, g

801 SeIfOSS File name:

lceland House 87
Date:
01.12.2021
Sheet format (A3):

1:50

Checking your order

. . Sign.: Kontrol:
Bituminous gasket 100 mm
Project name.: Construction drawing name: Project for the supplier:
SK-S-376 Dr-02
Drawing name: Check:

Sole plate fixing details



http://www.pdffactory.com

VB-W-1/08

VB-W-1/07

VB-W-1/06

First floor plan M1:50

o - VB-W-1/09 .
I [ - - | i i i
%T |
Lrotec Screws hrotec screws Eurotes S
566 s 35300 6 s 33006 uni]
=] = = =]
©
d
- iy g8 ;
i i 2 ad
>
=] =
o8 B
o™« —
P SoNoON
[[pesieine !
o
g H
3 £
%:M = XA =1 ]
A VB-W-1/15 > VB-W-1/12 A VB-W-1/19 2
n 10
om ®
[l —
oNOoN ~
T .
JoaN o ow _ o
S'NNoN Mmoo
- SRERN y
\
—
o
—
2030 1015 1015 > h
2225 2225 2225 z
0 0 0 >
2225 2225 TD-2 2225 11—
— VB-W-1/11 A
11l i s Mg S ‘ ‘ -
= VB-W-1/05 = - o BB3A
I © O N )
i G
T 3
i !
[ JEurotec Screws
gl
e T j
ggé A vBw-10 A VB-W-1/17
[ =
| —
[ 2 e
[ &j] L l_. Dr:s\wing name:
i 15 First floor plan
lee o =
29 o :
|: NNON =] g
[ Costumer name: Approved:
g Tekta EHF
[% - House 97 m2 Control project
1630 Z. - Z. . Sign.: Control:
I 4 — 123 .- 0OdinsstOdigur 4,
[ 2225 801 Se IfOSS File name:
TEKTA EHF
% b )N N N N = \ Iceland House 97 m?
“VB-W-1/03 VB-W-1/02 Date:
01.12.2021
Sheet format (A3):
1:50
Checking your order
Sign.: Kontrol:
Project name.: Construction drawing name: Project for the supplier:
SK-S-376 Dr-03
Drawing name: Check:
First floor plan



http://www.pdffactory.com

Outside walls conection
with sole plate detall

K /],45 ¥
| —<
e
|
|
Anchor bolt
) WA M12x149,
c/c 600 mm
1
[ a
e
n L /
/XF _
A
Mouse protection
Tekta EHF e
House 97 m? Conuolproject
0dinsstOdigur 4, sor
801 Selfoss Fil name:
. . Iceland Housa 37 me
Angle AKR 95G (c/c 600 mm) fix with
WA Anchor bolts @12x149 to oo
Bituminous gasket 150 mm the betong floor B
‘% shang nails @4x40 (11 units) to the wall — T e e
SK-S-376 |Dr-04
prawingname: -~ Outside walls conection Check:
with sole plate detail



http://www.pdffactory.com

Inside column fixing
to the betong floor detalil

v 195 P
A A

$

Cut the column to the
required lenth
Fix column with Anchor
bolts WA 10/123 (1 unit)

- g

// é,

Costumer name: Approved:
Tekta EHF
House 97 m? Control project
0dinsstOdigur 4, san
801 Selfoss e
Iceland Housa 37 me
Date:
01.12.2021
‘Sheet format (A3):
1:20
Checking your order
Sign.:
Project name. Construction drawing name: Project for the supplier:

tion di
SK-S-376 Dr-05

Drawing name:
Inside column fixing detail

Check:



http://www.pdffactory.com

Inside walls fixing
to the betong floor detail

, 70

Inside Wall and sole plate conection

with Screws @6x90 mm, c/c 600 mm

Costumer name: Approved:

Tekta EHF

House 97 m2 Control project

0dinsstOdigur 4, s

801 Selfoss Pep—

Iceland Housa 37 me
Date:

10.11.2021

Sheetformat (A3)
1:20

Checking your order

Sign.:

Project name. Construction drawing narme: Project for the supplier
SK-S-376 Dr-06
Drawing name: Chedkc

Inside column fixing detail



http://www.pdffactory.com

Silicone

Outside walls conection
detail (Corner)

Glued vapour barrier
film with Siga Rissan Tape
Wood bar 45x45 mm fix with
Framescrews @6x90 mm

Screws J4.5x50

Costumer name: Approved:
Tekta EHF
House 97 m? Control project
0dinsstOdigur 4, san
801 Selfoss F=e—
Iceland Hovaasrm:
Date:
10.11.2021
‘Sheet format (A3):
1:20
Checking your order
Sign.:
Project name.: Construction drawing name: Project for the supplier:

SK-S-376 Dr-07

Drawing name: Qutside walls connection
detail (Corner)

Check:



http://www.pdffactory.com

Window instalation detail

Expanding foam

-ﬁl
4

From inside window frame

glue with wall frame with
Siga Corvum Tape

From inside vapiour film

glue with wall frame with
Siga Risan tape

lu

wall frame wit

[ga Corvum Tape

Window instalation detail

Costumer name: Approved:
Tekta EHF .
House 97 m2 Controlproject
0dinsstOdigur 4, san
801 Selfoss —
Iceland Housa 37 me
Date:
10.11.2021
‘Sheet format (A3):
1:20
Checking your order
Sign.:
Project name. Construction drawing name: Project for the supplier:
SK-S-376 Dr-08
Drawing name: Chedke



http://www.pdffactory.com

VB-W-1/08

VB-W-1/07

8x16(Q; 6 units
Eurotg¢c Screws

Outside walls conection detall

Conect outside walls and
load bearing walls with Nall
plate
NP 20/120/200 (3 units).
Fix NP with
ring shank nails @4x40 mm

Glue vapour barrier with
Siga Rissan Tape

Costumer name: Approved:

Tekta EHF

I-jouse 97 rpz Control project

0dinsstOdigur 4, son

801 Selfoss -

Iceland Housa 37 me
Date:
01.12.2021
‘Sheet format (A3):

1:20

Checking your order

Sign.:

SK-S-376 Dr-09

Project name. Construction drawing name:

Project for the supplier

Drawing name:
Outside walls connection detail

Check:



http://www.pdffactory.com

350—

600 350

950 —

600 |

1550 —

600

2150—

600 |

2750—

600 |

3350 —

600 |

3950 —

600 |

4550 —

600 |

5150 —

600 |

5750 —

600 |

6350 —

600 |

6950 —

600 |

7550 —
7800 —

7> 443 T250"

8243
8266

6979

489

4799

L
< oo o o o 4
5% 3 > NS 3 5 2 g Q 2 Q 2 Q g e Q e Q Q g Q o ™
mm N N - - o [«2] o™ ~ — wn (2] ™ N~ — 19 [*2] (3] ~ — n < <
N N A A A A A A M A A A N AN AN A AN AN A AN N AN
73438 T250' 600 ' 600 ' 600 | 600 ' 600 ' 600 ' 600 ' 600 ' 600 ' 600 ' 600 ' 600 | 600 ' 600 ' 600 ' 600 ' 600 ' 600 ' 600 ' 600 3437
1933 555 B 2445 555 1845 B 555 ) 1845 ) 555 B 2888
7 7 7 7 7 7 7 7 7 7
488 Fea k-
488
N~ ]R © © [{<} [{<} [{<} [{<} [{<} [{<} © © © © © [{<} [{<} [{<} n < (32} N —
%C\I N N N N N N N N N N N N N N N N N N N o o (,b
< W
5 o>
16 18 16 16 16 16 16 16 16 i6 16 16 i6 16 16 BRS 16 16 16 Qq’
14 o 39
a2
20°
14 & 38
— [s¥ ™ < //
o D o o
i i i i
¢ i ¢ ¢
[aa] N m [aa] o
4 > S > > / & &> 87
14 o KB> 36
14 & & 35
© a4 9
& i
! i 8 8 gl
3 75
6 6 6 6 6 6 6 6 6 6 6 6 6 6
& & & 34
3 20
32/28m2 ]
y g & & & 34
3 3 & NVB-R-EL
3 u 4 4 47 <
4 o o N
o Q fra
> >l
N i & § & 34
3 6 6 6 6 6 6 6 6 6 6 6 6 748 ]
= N !
488 a 8 S %
| & A B < 32.57m%? & 34
3 4 3 4 4 4 4 4 4 4 4 114 9 ] "
>
[} (]
1Y) C) & > & 34
™ ~ || o © © 0 © © © © © 56 T T i
o 5 S
N & & 5 34
N 7200 P i 0
4& = N N
23°
21.24m? s s == 34
R = 5 : : VB-R-ET]
S VB-R-E09
- g 5 g s
51 foN <t <
o S S
& & = 34
N (o2}
~ o 51 fou . -
0 ~ o S S
B <
& & I3 34
N
L
51 foN <t <
o S S
& & 59 34
B 1933 B 555 B 1845 B 555 B 1845 B 51 oy . -
A @ A A A A A
o™ -R- -R-
8 VB-R-E08 o VBREl & "
A2}
51 NBRA 33
O
Q g g g ¥ g
< & & & & & 33
N N
N~ N 52
488 488
438 250 600 600 600 600 600 600 600 600 600 600 600 600 600 600 600 3388
Tt T 1 1 1 1 1 1
o o) oo} [ee] e} e} o] e} o o e} oo} oo} [ee] [ee] e} o] oo} 0
o ¢ [e] [e) [ce) [¢) o) oo o e <) o) [e¢) o) [ce) [¢) ¢ ~
<t © N [<) < o «© N [ee} < o O o e} < o [{e} o
— — N ™ ™ < < n © © ~ ~ e} [} [} 2

3839

2445 1555 2445

1555 1

1938

489

488

195

600 600 600 600 600 600 600 600 600 600 600 600 600 600 600 600 600 600

443 250

L

L

L

L

L

L

L

L

11688
11493

10893

10293

| 9693

| 9093

| 8493

| 7893

7293

| 6693

6093

5493

4893

4203

3693

| 3093

| 2493

| 1893

| 1203

693
443

L

—0

11777

Roof plan
Drawing name:
Roof plan
Costumer name: Approved:
Tekta EHF
H ouse 97 m 2 Control project
Z . Z. . Sign.: Control:
OdinsstOadigur 4,
801 Se|fOSS File name:
Iceland House s7me
Date:
01.12.2021
Sheet format (A3):
1:50
Checking your order
Sign.: Kontrol:
Project name.: Construction drawing name: Project for the supplier:
SK-S-376 Dr-10
Drawing name: Check:
Roof plan .



http://www.pdffactory.com

Fix roof elements fix with Angles Roof elements conection with Purlin detail
ABR 105 (Both sides)

Fix Angle with ring shank nails
@4x40 mm

0791/

0 h _fo
(-] o
(-] o
(-] o
o * %
- (@)
&)
Fix roof elements with Details
¥ 200 ¥ UNI 190 (Both sides)
Fix Detalil with ring shank nails
@4x40 mm
Costumer name: Approved:
Tekta EHF
HOUSe 97 mz Control project
0dinsstOdigur 4, san
801 Selfoss P —
Iceland Fovass7ma
T:il.ZOZl
‘Sheet format (A3):
1:20
Checking your order
Sign.
Project name. Construction drawing name: Project for the supplir.
SK-S-376 Dr-11
brawingname: - Roof elements conection Check:
with Purlin detail



http://www.pdffactory.com

Roof elements conection with outside

Fix roof elements with screws

@8x360 mm

Fix roof elements fix with An
ABR 105 (Both sides)

Fix wind boards

120x20 mm with
screws @4,8x75 m

120

120

Mesh from insect

Fix shelter boards 120x20 mm

screws @4,8x75 mm

Fix Angle with ring shank nails
Icopal membrane

@4x40 mm
-
N ™~
_\ 12
h
Silicone

wall detall

S

0 0 o o o

o 0 0o 0o 0o o

oct

Fix roof elements with Details
SPF 170 (Both sides)

Y 145

Fix Detail with ring shank nails

J4x40 mm

ostumer name:

Tekta EHF

House 97 m?
0dinsstOdigur 4,
801 Selfoss
Iceland

TTTTTTTT
uuuuuuuuu

Date:
01.12.2021

Sheetformat (A3)
1:20

Checking your order

Sign.:

Project name. Construction drawing name:

SK-S-376 Dr-12

Project for the supplir

Drawingname: - Roof elements conection
with outside wall detail

Check:



http://www.pdffactory.com

Roof elements conection with outside wall

Icopal membrane

Fix roof elements with
Screws @8x140 mm,

c/c 400 mm \

N
. . <
Fix wind boards 120x20 mm Mo
with screws @4,8x75 mm i \\
g A X S e i}
/ L\ %ﬁ
: )
V( ) ( / ) : . J J
§< L1 J
120 L | N
N

od bar 45x45 mm fix with

Framescrews @6x90 mm

Mesh from insect _ .
: Glued vapour barrier
film with Tyvek Acrylic Tape

i ; Tekta EHF et

Fix shelter boards 120x20 mm wijth . Houee o7 m? e
0dinsstOdigur 4, sor

screws @4,8x75 mm - Son et __

- Iceland AN
w e

Project name. Construction drawing name: | Project for the suppler.

jon di
v 145 v SK-S-376 Dr-13

A A Drawingname: - Roof elements conection Check:
with outside wall detail



http://www.pdffactory.com

Purlins fixing to the outside wall detail

Fix purlin with screws
@8x300 mm

Fix Purlin with Angle ABR 105

Fix angles with screws @8x120
and ring shang nails @4x40

AW

Purlin fixing to the outside wall detail ‘

Costumer name: Approved:
Tekta EHF e
House 97 m2 Contolproject
0dinsstOdigur 4, san
801 Selfoss Fie name:
lceland
Date:
10.11.2021
‘Sheet format (A3):
1:20
Checking your order
Sign.:
Project name. Construction drawing name: Project for the supplier:
SK-S-376 Dr-14
Drawing name: heck:



http://www.pdffactory.com

Purlins fixing to the inside wall detalil
Angle Brackets AB6983

Fix rafter with screws Nail plate NP 20/200/300
@8x300 mm /ﬁix NP with ring shank nails

Fix roof main purlin with screws

@8x380 mm \ I ' ' \ '
B
g ) .
L\ 5
><
S \ Fix roof purlin with Face Fix
skJo ) Hanger GSI 540/200/4
e O o |

Fix Angle ABR 105 with screws
@8x160 mm and ring shang nails
@4x40 mm >

200

Costumer nar me:

Tekta EHF

House 97 m? Control project

0dinsstOdigur 4, san

801 Selfoss —

Iceland Housa 37 me
Date:
10.11.2021
‘Sheet format (A3):

1:20

Checking your order

Sign.:

Project name. Construction drawing name:

tion r
SK-S-376 Dr-15

Project for the supplir

Drawing name:

Purlin fixing to the inside wall detail

Check:



http://www.pdffactory.com

2423

488

508

2400

2458

Section B-B
(Corecture)

3247

508

3793

3692

Costumer name: ‘Approved:
Tekta EHF
Housle 97 m2 Control project
A H - - Sign.:
OGIlSStOGIgHF 4, o
801 Selfoss Fie name:
Iceland Houses? mt
Date:
12.11.2021
Sheet format (A3):
1:20
Checking your order
Sign.:
Project name.: Construction drawing name: Project for the supplier:
SK-S-376 Dr-16
Drawing name: Chedc

Section B-B (Corecture)



http://www.pdffactory.com

7y

2425

510

Section A-A ¥
i
;
y 510 32
N
(a2
[ee
<
—
o
Lo, o
o, N
& N
L 3<
Costumer name: Approved:
A 2970 Tekta EHE
House 9 7 m?2 Control project
Z - 4 , Sign.:
Od8insstOdigur 4, ?
801 Se|fOSS File name:
Iceland House o7 me
Date:
12.11.2021
Sheet format (A3):
1:20
Checking your order
Sign.:
Project name.: Construction drawing name: Project for the supplier:
SK-S-376 Dr-17

Drawing name:

Section A-A (Corecture)

Check:



http://www.pdffactory.com

	1-Yfirlýsing hönnuðar
	2-Óðinsstígur4-B

		johannes@utu.is
	2022-02-25T12:14:22+0000
	Laugarvatni
	Undirritun




